

Republic of the Philippines CITY GOVERNMENT OF MUNTINLUPA Bids and Awards Committee

NOTICE TO PROCEED

EASA PHARMA DISTRIBUTION

Cebu City

Dear Sir / Madame:

The attached Contract Agreement having been approved, notice is hereby given **EASA PHARMA DISTRIBUTION** that the CONTRACT of the City Government of Muntinlupa for the **"Supply & Delivery of Ampoules & Vials to be used by OSMUN"**, shall commence effective FIVE (5) DAYS after acknowledging receipt hereof.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and Schedule of Delivery.

Please acknowledge receipt and acceptance of this notice by signing both copies on the space provided below. Kindly keep one (1) copy and return the other copy to the Bids and Awards Committee Secretariat.

Very truly yours.

Hon. ROZZÁNO RUFINO B. BIAZON

I acknowledge receipt of this Notice on NOV-28, 2023

Name of the Bidder or Representative BINKY JH Dummum

Authorized signature

City Government of Muntinlupa, 2nd Floor, Main Building, National Road, Barangay Putatan, Muntinlupa City Muntinlupa

Contract Agreement

THIS AGREEMENT made the _____ daylor 14 2022 between CITY GOVERNMENT OF MUNTINLUPA of the Philippines (hereinafter called "the Entity") of the one part and EASA PHARMA DISTRIBUTION with address at Cebu City (hereinafter called "the Supplier") of the other part;

WHEREAS, the Entity invited Bids for certain goods and ancillary services, particularly for the Supply & Delivery of Ampoules & Vials to be used by OSMUN and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of Two Million Two Hundred Forty Four Thousand Nine Hundred Sixty Four Pesos & 60/100 (P2,244,964.60) (hereinafter called "the Contract Price").

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, viz.:
 - I. Philippine Bidding Documents (PBDs):
 - i. Schedule of Requirements:
 - ii. Technical Specifications:
 - iii. General and Special Conditions of Contract: and
 - iv. Supplemental or Bid Bulletins, if any
 - ii. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (*e.g.*, Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

3. In consideration for the sum of Two Million Two Hundred Forty Four Thousand Nine Hundred Sixty Four Pesos & 60/100 (P2,244,964.60) or such other sums as may be ascertained, EASA PHARMA DISTRIBUTION agrees to the Supply & Delivery of Ampoules & Vials to be used by OSMUN in accordance with his/her/its Bid.

pay the above-mentioned sum in accordance
caused this Agreement to be executed in on the day and year first above written.
BINKY JOY DUMDUM Supplier
/jor: EASA PHARMA DISTRIBUTION
ce of: 1266 Inda Blessie Macaga
GEMENT
pa City, this day of 14 2029 2023,
ENT ISSUED ID NO.
ense N03-86-030998 Чо ₆ 7
rsons who executed the foregoing instrument ry act and deed.
ATTY RAUL R. CORRO NOTARY CUBICUM NO. NC-22-047 UNTIL DECEMBER 31 2000
PTR NO MC ASTRONOMINESION (IC) NC-22-047 PTR NO MC 4377013/MUNTINLUPA/JAN. 5, 2024 IBP # 04108/PPLM CHAPTER ROLL NO. 36515 LR PEOPLE'S CENTER BUILDING, MUNTINLUPA CITY HALL CITY GOVERNMENT OF MUNTINLUPA

REPUBLIC OF THE PHILIPPINES DEPARTMENT OF TRANSPORTATION LAND TRANSPORTATION OFFICE



NOU-PROFESSIONAL DRIVER'S LICENSE

BIAZON, ROZZANO RUFINO BUNDAN

tresponsible Sec. Conservation Westerral Designation 1981, 21 1980 OULES 103 177

ويدن يكيكو 8 U 10 FARL 37 AVALA ALABANG VILLAGE, CHINING SHIP CHIT

1007 95-030978 2023/03/20 1145

Egration PROMIT Mineral Lavor

FOGEN CLANVANIE .

1 2 2 mg/s 057291296

IV, IN CASE OF EMERGENOT HOTE'S MAPE SAME AND IN MARK ALGRESS SAME ADDRESS (T) HOLMOSOMES (A) BLOBIGATIONS 1901 HOTFICENTE ATTIGATE

And hat and hat a

City Government of Muntinlupa

Supplier	EASA P	HARMA	DISTRIBUTION	P.O. No.:				
	. Cebu Cit			Date :	Novembe	r 16, 2023		
Address: Cebu City					Mode of Proce	Public Bidding		
Gentleme		nish and/or o	deliver to this office t	ne following articles subject	to the terms and	l conditions conta	nined herein:	
Dlag	a of dollsoms				Dolling Town	<u> </u>		
						:		
Item No.	Quantity	Unit		Description	<u> </u>	Unit Cost	Amount	
4	3000	viole	ANTI-INFECTIVES (I Ampicillin 250mg v			42.00	20.700.00	
1	700	vials vials	, ,			12.90	38,700.00	
2	1 .		Ampicillin + Sulbaci			92.90	65,030.00	
3	1000	vials	Benzylpenicillin 1m			12.90	12,900.00	
4	1800	vials	ANTI-INFECTIVES (A	ctam 4g/500mg vial AMINOGLYCOSIDES)		252.90	455,220.00	
5	500	vials	Amikacin sulfate 25	60mg/ml 2ml vial		19.90	9,950.00	
6	1000	amps	Gentamycin sulfate ANTI-INFECTIVES (13.90	13,900,00	
7	5000	vials	2ND GENERATION Cefuroxime 750mg	vial		19.90	99,500.00	
			3RD GENERATION					
8	3500	vials	Ceftriaxone 1g vial 4TH GENERATION			25.90	90,650.00	
9	600	amps	ANTI-INFECTIVES (I Clindamycin phosp ANTI-INFECTIVES (I	hate 150mg/ml 4ml amp (1's	s/box)	233.90	140,340.00	
10	100	vials	1	lrate 500mg vial (1' vial)		374.90	37,490.00	
11	250	vials	Ciprofloxacin 2mg/	mi 100ml vial (1'svial) ANTIPROTOZOAL/AMEBICID)F	25.90	6,475.00	
12	500	vials		mg/100ml vial (1's/box)	_	32.40	16,200.00	
13	600	vials	Vancomycin HCl 1g	vial (1's vial)		264.90	,	
			ANTI-INFECTIVES (CARBAPENEM DERIVATIVE)		1	,	
14	450	vials	Meropenem 1g via	i (1's/box) CVAGOLYTIC/ANTIDOTE		384.90	173,205.00	
15	1000	amps	Atropine Sulfate 1n	ng/ml amp	, (C)	17.90	17,900.00	
16	250	amps	Dobutamine HCl 50	ROPIC DRUGS (CARDIAC DR	(UG)	104.00	46 225 22	
17	200	amps	Dopamine HCL 200			184.90	•	
	200	umps		ULANT DRUGS (CARDIAC DI	RIIG)	51.90	10,380.00	
18	1500	amps	Epinephrine HCl 1n		ilooj	46.90	70,350.00	
Total An	counts in Wo	ndo.				1		
TOTAL AT	iounts in wo		1.					
for every	In case of fa / day of delay	iling to mak / shall be in	the full delivery with	hin the time specified above	, a penalty of on	e-tenth (1/10) of a	one percent	
•		1	ואוי		Very Truly	irs, // . A de //		
Confror			ISTRIBUTORS er printed name		Mayor ROZ	Irs, A A A E E E E E E E E E E E E E E E E	B. BIAZON	
	_	- 1	-		/ /	Authorized Offici	aı	
		NOV- 19	L 2029 Date					
(In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must				Requesting Office/Dept,	Funds Avai Am	lable : ount:		
be accor	mplished)	•				1		
Approved to be purchased thru Negotiated Purchas per Sangguniang Res. No.:					R.O	. No.:		
		6 1705, 17						
Certified Correct: Secretary of the Sanggunian				Authorized Official	_	Chief Account		

4

11/22/23

City Government of Muntinlupa

Address: Cebu City	Supplier :	EASA PI	IARMA D	ISTRIBUTIO	P.O. No. :	030853			
Please be furnish this office the following articles subject to the terms and condition contain herein:	Address:	Cebu City			Date :	November	16, 2023		
Please be furnish this office the following articles subject to the terms and condition contain herein; Place of delivery :	Mode of Procurement: Public B								
Please be furnish this office the following articles subject to the terms and condition contain herein; Place of delivery :	Gentlemen :								
Date of delivery Payment Term									
	Place of delivery: Delivery Term:								
19	Date	of delivery:			- W W	Payment Term:			
19	Item No.	Quantity	Unit		Description		Unit Cost	Amount	
20	19	1000	amps	Furosemide 2	20mg/2ml amp		9.70	9,700.00	
21 200 vials Propofol 10mg/ml (with MCT-TC) (1% w/v) emulsion 20ml vial 79.90 15,980.00 ANALGESICS & ANTIPERTICS 79.90 24,900.00 24,900.00 23,2500 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 24,900.00 25,000 26,000	20	100	amps	Isosorbide Di	nitrate 1mg/ml 10ml amp		485.70	48,570.00	
23	21	200	vials	Propofol 10m	ng/ml (with MCT-TC) (1% w/v) em	ulsion 20ml vial	79.90	15,980.00	
Table Tabl			amps				24.90	24,900.00	
ANTIHISTAMINES & ANTIALERGICS (IMMUNE) 25.90 15,540.00			•				15.90		
25	24	1000	amps				14.40	14,400.00	
Aproved to be purchase hydrocortisone Na Succinate 100mg vial (1's/box)	25	600	amps	Diphenhydra	mine 50mg/ml amp		25.90	15,540.00	
27	26	1000	vials	Hydrocortiso	ne Na Succinate 100mg vial (1's/bo	ox)	28.50	28,500.00	
DRUGS ACTING ON UTERUS (GENITO URINARY) Methylergometrine maleate 200mcg/ml amp 28.40 8,520.00	27	2610	vials	Omeprazole 40mg vial (1's vial)1's			29.90	78,039.00	
Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No. :	28	100	amps	Hyoscine-n-Butyl Bromide 20mg/ml amp			29.90	2,990.00	
Anti-tetanus serum 1,500 iu/ml amp	29	300	amps	Methylergometrine maleate 200mcg/ml amp			28.40	8,520.00	
Anti-tetanus serum 1,500 iu/mi amp HAEMOSTATIC/COAGULANT Tranexamic Acid S00mg/5ml amp ANTICHOLINESTERASE/MUSCLE STIMULANT Neostigmine methylsulfate S00mg/mi ampule ANTICOAGULANTS,ANTIPLATELETS & THROMBOLYTICS Heparin (unfractionated) 1,000iu/ml 5ml vial 1000 vials HEPARATION HYdroxyethyl starch in isotonic solution (HES 130/0.4) 500ml ORAL PREPARATION Page 2 of 4 Total Amounts in words: In case of failure to make the full delivery within the the specified above, a penalty of one-tenth(1/10) of one percent for every day of delay shall be imposed. Conforme: EASA PHARMA DISTRIBUTION Signature over printed name Authorized Official (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct: Anti-tetanus serum 1,500 iu/ml amp 29,90 14,950.00 90,990.00 1,4,950.00 90,990.00 1,4,950.00 90,990.00 1,4,950.00 90,990.00 1,4,950.00 1	30	500	amps	Tetanus toxoid 0.5ml amp			64.90	32,450,00	
ANTICHOLINESTERASE/MUSCLE STIMULANT Neostigmine methylsulfate 500mcg/ml ampule ANTICOAGULANTS,ANTIPLATELTS & THROMBOLYTICS Heparin (unfractionated) 1000iu/ml 5ml vial INTRAVENOUS AND OTHER STERILE SOLUTION Hydroxyethyl starch in isotonic solution (HES 130/0.4) 500ml Total Amounts in words: In case of failure to make the full delivery within the the specified above, a penalty of one-tenth(1/10) of one percent for every day of delay shall be imposed. Conforme: EASA PHARM DISTRIBUTION Signature over printed name	31	500	amps				49.90		
Neostigmine methylsulfate 500mcg/ml ampule	32	500	amps	Tranexamic Acid 500mg/5ml amp			29.90	14,950.00	
Heparin (unfractionated) 1000iu/ml 5ml vial 99.90 99,900.00 1000iu/ml 5ml vial 99.90 99,900.00 1000iu/ml 5ml vial 99.90 99,900.00 1000iu/ml 5ml vial 1000iu/ml 5ml vial vial vial vial vial vial vial via	33	100	amps	Neostigmine methylsulfate 500mcg/ml ampule			90.90	9,090.00	
Total Amounts in words: In case of failure to make the full delivery within the the specified above, a penalty of one-tenth(1/10) of one percent for every day of delay shall be imposed. Conforme: EASA PHARMA DISTRIBUTION Signature over printed name (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct: Certified Correct: Certified Correct:	34	1000	vials	Heparin (unfractionated) 1000iu/ml 5ml vial			99.90	99,900.00	
Total Amounts in words: In case of failure to make the full delivery within the the specified above, a penalty of one-tenth(1/10) of one percent for every day of delay shall be imposed. Conforme: EASA PHARMA DISTRIBUTION Signature over printed name -2\(\frac{1}{2} \) Date (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:	35	250	bags	Hydroxyethyl starch in isotonic solution (HES 130/0.4) 500ml ORAL PREPARATION			499.90	124,975.00	
In case of failure to make the full delivery within the the specified above, a penalty of one-tenth(1/10) of one percent for every day of delay shall be imposed. Conforme: EASA PHARMA DISTRIBUTION Signature over printed name Authorized Official (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct: Certified Correct:				:	page 2 of 4				
for every day of delay shall be imposed. Conforme: EASA PHARMA DISTRIBUTION Signature over printed name 1 - 2 \(\) - 2 \(\) Date (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct: Very Truly yours	Total A	mounts in we	ords:	<u> </u>					
for every day of delay shall be imposed. Conforme: EASA PHARMA DISTRIBUTION Signature over printed name 1 - 2 \(\) - 2 \(\) Date (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct: Very Truly yours									
Conforme: EASA PHARMA DISTRIBUTION Signature over printed name Authorized Official (In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:	for every day of delay shall be imposed.								
Signature over printed name Continue Co				M	Ve	ry Truly yours	LAME I		
Signature over printed name Can be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:	Conf	orme:	EASA PHA	RMA DISTRIE	BUTION	Mayor ROZZAN	IO RUFINO B. I	BIAZON	
(In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:									
(In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:	11-28-23								
Section 369 (a) of RA7160 this portion must be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:									
be accomplished.) Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:									
Approved to be purchase thru Negotiated Purchase per Sangguniang Res. No.: Certified Correct:	· · · · · · · · · · · · · · · · · · ·								
Purchase per Sangguniang Res. No. : Certified Correct :									
Certified Correct:									
	Purchase pe	er Sanggunian	g Res. No.:						
Secretary of the Sanggunian Authorized Official Chief Account	Certified Co	orrect:							
	- <u>.</u>	Sec	retary of the S	Sanggunian	Authorized Official	,	Chief Account		

City Government of Muntinlupa

Supplier: EASA PHARMA DISTRIBUTION				P.O. No. :	53		
Address: Cebu City				Date:	November	16, 2023	
					Mode of 1	Procurement : Pu	
Gentle	emen :						
	Please l	be furnish thi	s office the followin	ng articles subject to the terms ar	nd condition contain he	erein:	
Place	of delivery :		···	· · · · · · · · · · · · · · · · · · ·	Delivery Term :		
Date	of delivery:				Payment Term :		
Item No.	Quantity	Unit		Description		Unit Cost	Amount
					· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·
36	4500	tabs	CEPHALOSPOR Cefuroxime axe MACROLIDES (RATION	12.90	58,050.00
37	500	tabs	Azithromycin d	ihydrate 500mg cap		19.40	9,700.00
38	500	tabs	Metronidazole			1.40	700.00
39	2500	tabs	Clopidogrel 75		VIBOLYTICS	3.40	8,500.00
40	300	tabs	Clonidine HCl 7	GICS (ANTIHYPERTENSIVE) 5mcg tab		21.20	6,360.00
41	3500	tabs	CALCIUM CHAI Amlodipine bes	NNEL BLOCKERS . sylate 5mg tab		0.90	3,150.00
42	2000	tabs	ANGIOTENSIN- Losartan potas	2-RECEPTOR BLOCKERS (ANTI	HYPERTENSIVE)	1.40	
43	168	tabs	Sacubitril+Valsa			56.20	2,800.00
44	200	tabs	Telmisartan 40			15.40	9,441.60
				S (CARDIOACTIVE AGENTS)		15.40	3,080.00
45	300	tabs	Furosemide 20			0.68	204.00
46	2500	tabs	Atorvastatin 40			6.40	16,000.00
ľ			LAXATIVE	TO ABITI INITI ABABAATORY O			
47	6000	tabs	Mefenamic acid		ANALGESICS	1.40	8,400.00
48	4000	caps	Omeprazole 20	NTIULCERANTS (GIT) mg cap		1.90	7,600.00
49	3000	tabs	ANTI-ANEMICS Ferrous sulfate	(60MG ELEMENTAL IRON) 325	ime tab	0.90	2,700.00
50	400	tabs	ORAL ANTI-DIA Metformin HCl	BETIC AGENTS	6	1.40	
51	1000	tabs	ORAL REPLACEMENT ELECTROLYTES Potassium chloride 600mg tab				560.00
				page 3 of 4		9.90	9,900.00
(T1-A				· · · · · · · · · · · · · · · · · · ·			
Total A	mounts in wo					·	-
for ev	In case of tery day of de	failure to ma	ke the full delivery	within the the specified above, a	penalty of one-tenth(1	/10) of one percer	nt
-0.0.	ory any or ac	and situate of		7	ery Truly yours		
Confe	orme:	EASA PHA	/V RMA DISTRIBU		Mayor ROZZAN	y Millon B	147081
			re over printed nam			rized Official	IALUN
			11-28-22		Mutile	onzed Omeiai	
(In case of N	Vegotisted Po-	rchase nursus	"Date /	equesting Office /D		,,	
(In case of Negotiated Purchase pursuant to Requesting Office/Dept. Fun Section 369 (a) of RA7160 this portion must				Funds Available:			
be accomplished.) Amount:							
oe accompli	snea.)		1			· · · · · · · · · · · · · · · · · · ·	
Approved to be purchase thru Negotiated R.O. No.:							
	r Sanggunian					·	
Certified Co							
		retary of the S	anggunian	Authorized Official		Chief Account	····
	·	***	, 1		<u> </u>		

City Government of Muntinlupa

Supplier:	EASA P	HARMA D	ISTRIBUTIO	P.O. No. :	853				
Address:	Cebu City	7		Date :	November	r 16, 2023			
		Procurement: P	ublic Bidding						
Gentle	•								
	Please b	e furnish thi	s office the follo	wing articles subject to the terms and	condition contain he	rein:			
Place	of delivery:								
Date	of delivery:				Payment Term :				
Item No.	Quantity	Unit		Description		Unit Cost	Amount		
52	600	tabs	Calcium carl	& SUPPLEMENTS bonate 500mg tab SYSTEMIC & URINE ALKALIZER		1.90	1,140.00		
53	500	tabs	Sodium Bica OINTMENTS	arbonate 650 mg tablet S/CREAMS		0.90	450.00		
54	100	tube	Silver Sulfad EYE ANTI-IN	ITI-INFECTIVES liazine cream (1's/tube) 25g IFECTIVES & ANTISEPTICS		96.90	9,690.00		
55	200	tube	1. DELIVERY	in 0.5% eye ointment (1's/box) 3.5g ' shall start 15-30 DAYS after release	of PO and shall	149.90	29,980.00		
			2. Supplier nand Certificato Pharmacy 3. ITEMS FC 2 years and 4. As per Ph HEPANIR broseries of Inci	ED IN FULL or may be call upon by to must have a VALID LTO, CPR, Certificate of Distributorship (if applicable prior to delivery. DR DELIVERY should have an expirate above from the date of delivery. DR ACCEPTED and CAN NO LONGER BE ACCEPTED and CAN NO LONGER BE ACCEPTED and Reports: EXEXPLAYED AND LONGER BE ACCEPTED and CAN NO LONGER BE ACCEPTED and CAN ADDRESS AND ADDRESS		P2,244,964.60			
Total Ar	nounts in wo		. ,		****		-		
for eve Confo	ery day of de	lay shall be in	mposell. RMA DISTRIE over printed n 11-28-27	BUTION	y Truly yours, Mayor ROZZAN	u N.K	BIAZON		
Section 369 ((a) of RA7160	chase pursuar this portion r		Requesting Office/Dept.	Funds Available : _ Amount :				
		thru Negotiate Res. No. :	eđ						
Certified Correct:									
	Secr	etary of the Sa	anggunian	Authorized Official	Chief Account				